

We have prepared a quote for you

New System Oklahoma County ANNEX Video Surveillance COVID Response & Failover - State Contract SW1048D

Quote # 005549 Version 1

Prepared for:

Oklahoma County Courthouse

David Baisden sodavbai@oklahomacounty.org

Annet st



Product I	Details	Suggested Price	Discount Amount	State Contract Price	Qty	Ext. Contract Price
AINVR- PRM- PLUS- 64TB- NA	AI NVR Premium+; 64TB; NA	\$36,997.60	\$12,209.21	\$24,788.39	2	\$49,576.78
ACC7- ENT- VER- UPG	ACC 5 or ACC 6 to ACC 7 Enterprise Edition Version Upgrade license	\$30.60	\$10.10	\$20.50	72	\$1,476.00
ACC7- ENT-FO	ACC 7 ENT failover channel	\$52.06	\$17.18	\$34.88	36	\$1,255.68
10.0C- H5DH- DO1-IR	2x 5MP H5A Dual Head Camera. Outdoor camera with built-in IR	\$1,792.04	\$591.37	\$1,200.67	14	\$16,809.38
H5DH- MT- NPTA1	Pendant adapter for the H5A Dual Head camera. Also compatible with an optional wall arm; CM-MT-WALL1.	\$70.80	\$23.36	\$47.44	14	\$664.16
H5DH- DO- JBOX1	Junction Box for H5A Dual Head Camera	\$106.20	\$35.05	\$71.15	14	\$996.10
4.0C- H5A-D1- IR	4.0 MP WDR; LightCatcher; Day/Night; Indoor Dome; 3.3-9mm f/1.3 P-iris lens; Integrated IR; Next- Generation Analytics	\$1,170.59	\$386.29	\$784.30	24	\$18,823.20
12.0W- H5A-FE- DO1-IR	12.0 MP; Fisheye Dome Camera; Day/Night; WDR; 1.6mm f/2.0; Next- Generation Analytics; Integrated IR	\$1,330.42	\$439.04	\$891.38	2	\$1,782.76
H5A-FE- MT- NPTA1	NPT Adapter For H5A Fisheye Dome Camera (H5A-FE-DO)	\$70.80	\$23.36	\$47.44	2	\$94.88
CM-MT- WALL1	Pendant wVideo arm for H4 Fisheye (needs H4F-MT-NPTA1); H4SL (needs H4SL-MT-NPTA1); H4 PTZ or H3-xMH- DP-B cameras.	\$82.61	\$27.26	\$55.35	2	\$110.70



Product I	Details	Suggested Price	Discount Amount	State Contract Price	Qty	Ext. Contract Price
15C Wall Mount- 180 Bundle- IR	15C - 180 Camera, Wall Mount, Pendant, Cover, IR Ring & 60W POE Injector	\$3,180.15	\$1,049.44	\$2,130.71	5	\$10,653.55
15C- H4A- 3MH- 180	3x 5 MP; WDR; LightCatcher; 4mm; Camera Only		\$700.93			
H4AMH- AD- PEND1	Outdoor pendant mount adapter; must order one of IRPTZ-MNT-Wall1 or IRPTZ-MNT-NPTA1 and one of H4AMH-DO-COVR1 or H4AMH-DO- COVR1-SMOKE.		\$62.30			
IRPTZ- MNT- WALL1	Pedant wVideo mount adapter. For use with H4 IR PTZ or H4A-MH-AD-PEND1 on H4 Multisensor.		\$37.00			
H4AMH- AD- IRIL1	Optional IR illuminator ring; up to 30m (100ft); for use with H4AMH-DO-COVR1.		\$128.50			
POE- INJ2- 60W-NA	Indoor single port Gigabit PoE++ 60W; North American power cord included. May also be used in European Union; Japan; Australia; New Zealand; Mexico; China; South Korea; Russia; Argentina; Saudi Arabia; Kuwait; UAE and Brazil. Temperature range of the PoE		\$58.41			
H4AMH- DO- COVR1	Outdoor Dome Cover for H4 Multisensor		\$62.30			



Product I	Details	Suggested Price	Discount Amount	State Contract Price	Qty	Ext. Contract Price
	32C - 360 Camera, Pendant Mount, Pendant Adapter, Dome Cover, IR & 60W POE Injector	\$3,840.96	\$1,267.51	\$2,573.45	2	\$5,146.90
32C- H4A- 4MH- 360	4x 8 MP; WDR; LightCatcher; 4mm; Camera Only		\$934.58			
H4AMH- AD- PEND1	Outdoor pendant mount adapter; must order one of IRPTZ-MNT-Wall1 or IRPTZ-MNT-NPTA1 and one of H4AMH-DO-COVR1 or H4AMH-DO- COVR1-SMOKE.		\$62.30			
POE- INJ2- 60W-NA	Indoor single port Gigabit PoE++ 60W; North American power cord included. May also be used in European Union; Japan; Australia; New Zealand; Mexico; China; South Korea; Russia; Argentina; Saudi Arabia; Kuwait; UAE and Brazil. Temperature range of the PoE		\$58.41			
IRPTZ- MNT- NPTA1	Pedant NPT adapter. For use with H4 IR PTZ or H4A-MH-AD-PEND1 on H4 Multisensor.		\$21.42			
H4AMH- AD- IRIL1	Optional IR illuminator ring; up to 30m (100ft); for use with H4AMH-DO-COVR1.		\$128.50			
H4AMH- DO- COVR1	Outdoor Dome Cover for H4 Multisensor		\$62.30			



Product I	Details	Suggested Price	Discount Amount	State Contract Price	Qty	Ext. Contract Price
24C Corner Mount- 270 Bundle- IR	24C - 270 Camera, Wall Mount, Pendant, Corner Mount Adapter, Cover, IR Ring & 60W POE Injector	\$3,640.36	\$1,201.32	\$2,439.04	4	\$9,756.16
24C- H4A- 3MH- 270	3x 8 MP; WDR; LightCatcher; 4mm; Camera Only		\$817.76			
H4AMH- AD- PEND1	Outdoor pendant mount adapter; must order one of IRPTZ-MNT-Wall1 or IRPTZ-MNT-NPTA1 and one of H4AMH-DO-COVR1 or H4AMH-DO- COVR1-SMOKE.		\$62.30			
IRPTZ- MNT- WALL1	Pedant wVideo mount adapter. For use with H4 IR PTZ or H4A-MH-AD-PEND1 on H4 Multisensor.		\$37.00			
H4AMH- DO- COVR1	Outdoor Dome Cover for H4 Multisensor		\$62.30			
H4AMH- AD- IRIL1	Optional IR illuminator ring; up to 30m (100ft); for use with H4AMH-DO-COVR1.		\$128.50			
H4-MT- CRNR1	Corner mount adapter for use with H4A-MT-Wall1; H4-BO-JBOX1; H4SL; H4F; H4 PTZ; H4 IR PTZ and H4 Multisensor cameras.		\$35.05			
POE- INJ2- 60W-NA	Indoor single port Gigabit PoE++ 60W; North American power cord included. May also be used in European Union; Japan; Australia; New Zealand; Mexico; China; South Korea; Russia; Argentina; Saudi Arabia; Kuwait; UAE and Brazil. Temperature range of the PoE		\$58.41			



Product I	Details	Suggested Price	Discount Amount	State Contract	Qty	Ext. Contract Price
24C Wall Mount- 270 Bundle- IR	24C - 270 Camera, Wall Mount, Pendant, Cover, IR Ring & 60W POE Injector	\$3,534.16	\$1,166.27	Price \$2,367.89	2	\$4,735.78
24C- H4A- 3MH- 270	3x 8 MP; WDR; LightCatcher; 4mm; Camera Only		\$817.76			
H4AMH- AD- PEND1	Outdoor pendant mount adapter; must order one of IRPTZ-MNT-Wall1 or IRPTZ-MNT-NPTA1 and one of H4AMH-DO-COVR1 or H4AMH-DO- COVR1-SMOKE.		\$62.30			
IRPTZ- MNT- WALL1	Pedant wVideo mount adapter. For use with H4 IR PTZ or H4A-MH-AD-PEND1 on H4 Multisensor.		\$37.00			
H4AMH- AD- IRIL1	Optional IR illuminator ring; up to 30m (100ft); for use with H4AMH-DO-COVR1.		\$128.50			
POE- INJ2- 60W-NA	Indoor single port Gigabit PoE++ 60W; North American power cord included. May also be used in European Union; Japan; Australia; New Zealand; Mexico; China; South Korea; Russia; Argentina; Saudi Arabia; Kuwait; UAE and Brazil. Temperature range of the PoE		\$58.41			
H4AMH- DO- COVR1	Outdoor Dome Cover for H4 Multisensor		\$62.30			
DSS- PRO- MAT	Digi Professional Installation Materials (Conduit, JHooks, JBoxes, Caulk, Flex, Etc)	\$3,200.00	\$640.00	\$2,560.00	1	\$2,560.00



Product I	Details	Suggested Price	Discount Amount	State Contract Price	Qty	Ext. Contract Price
CABLE- CAT6- CMP-1	Cabling - Category 6 - Network - Plenum with J-Hooks Etc.	\$335.00	\$67.00	\$268.00	53	\$14,204.00
DSS- INST- CAM-IN	Digi Professional Installation Materials - Indoor Camera	\$75.00	\$15.00	\$60.00	47	\$2,820.00
DSS- INST- CAM- OUT	Digi Professional Installation Materials - Outdoor Camera	\$125.00	\$25.00	\$100.00	6	\$600.00
TECH (FIRE & SECURI TY)	TECH (FIRE & SECURITY)	\$120.00	\$40.00	\$80.00	424	\$33,920.00

Subtotal:

\$175,986.03



New System Oklahoma County ANNEX Video Surveillance COVID Response & Failover - State Contract SW1048D



Prepared by: Digi Security Systems - Tulsa Josh Herron 918-864-1861 Josh@digiss.com

Prepared for:

Oklahoma County Courthouse 320 Robert S Kerr Ave Oklahoma City, OK 73102 David Baisden (405) 615-0242 sodavbai@oklahomacounty.org

Quote Information:

Quote #: 005549

Version: 1

Delivery Date: 09/20/2022 Expiration Date: 10/31/2022

Quote Summary

Description	Amount
Products	\$175,986.03
Subtotal:	\$175,986.03
Shipping:	\$1,112.31
Total:	\$177,098.34

This quotation does not include applicable taxes unless specifically listed above. Acceptance of this quote or any purchase order generated as a result of this quote indicates acceptance of the Digi standard terms and conditions. The Digi standard terms and conditions can be found at www.digiss.com or a copy may be requested from your Digi representative. This proposal is valid for 30 days. Conduit, back boxes and hangers are excluded from this proposal unless specifically listed above. All 120v work is excluded from this proposal unless specifically listed. Any and all painting and patching is excluded. Asbestos work of any kind is excluded from this proposal. No cost for any required abatement is included in this proposal. Any cancellation or returns may be subject to a restocking fee and other charges, for which the Purchaser shall be responsible.

Digi Security Systems - Tulsa

Oklahoma County Courthouse

Signature:		Si	gnature:	
Name:	Joshua Herron	Na	ame:	David Baisden
Title:	President	Da	ate:	
Date:	09/20/2022			